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Lesson 6 Study Questions
Review the Study Questions for this lesson below. These questions are designed to help reinforce your learning of the lesson’s subject matter. You are not required to turn in your answers to these questions, but they should be answered for your review. 

A key for the answers is not provided. However, the instructor will provide video explanations on how to answer some of the questions throughout the course. Look for those videos immediately after the study questions. 
1. If we are constructing a 98 percent confidence interval for the population mean, the confidence level will be:

a. 2 percent.

b. 2.29.

c. 98 percent.

d. 2.39.

2. The z value corresponding to a 97 percent confidence interval is: 

a. 1.88. 

b. 2.17. 

c. 1.96. 

d. 3 percent. 

3. If we change the confidence level from 99 percent to 95 percent when constructing a confidence interval for the population mean, we can expect the size of the interval to:

a. increase. 

b. decrease. 

c. stay the same. 

d. None of the above.

4. If the 98 percent confidence limits for the population mean are 73 and 80, which of the following could be the 95 percent confidence limits? 

a. 73 and 81. 

b. 72 and 79.

c. 72 and 81.

d. 74 and 79.

5. A 90 percent confidence interval for a population mean indicates that:

a. we are 90 percent confident that the interval will contain all possible sample means with the same sample size taken from the given population.

b. we are 90 percent confident that the population mean will be the same as the sample mean used in constructing the interval.

c. we are 90 percent confident that the population mean will fall within the interval.

d. None of the above is true.

6. Which of the following confidence intervals will be the widest? 

a. 90 percent 

b. 95 percent 

d. 80 percent 

d. 98 percent 
7. In constructing a confidence interval for the population mean, if the level of confidence is changed from 99 percent to 90 percent, the standard deviation of the mean will:

a. be equal to 90% of the original standard deviation of the mean.

b. increase.

c. decrease.

d. remain the same.

8. A 99 percent confidence interval is to be constructed for a population mean from a random sample of size 22. If the population standard deviation is known, the table value to be used in the computation is: 

a. 2.518.

b. 2.330.

c. 2.831.

d. 2.580.

9. The height (in inches) of the students on a campus are assumed to have a normal distribution with a standard deviation of 4 in. A random sample of 49 students was taken and yields a mean of 68 in. The 95 percent confidence interval for the population mean is:

a. 67.06 to 68.94 in. 

b. 66.88 to 69.12 in. 

c. 63.42 to 72.48 in. 

d. 64.24 to 71.76 in. 

10. The area under any normal curve that is within two standard deviations of the mean is approximately:

a. 0.950. 

b. 0.680.

c. 0.997.

d. 0.500.

Lesson 6 Study Questions, continued
11. Using the scores in Table 1 and a confidence level of 95%, what is the confidence interval represented by all students in Abel’s math class (rounded to two decimal places)?

12. Using the scores in Table 1 and a confidence level of 99%, what is the confidence interval represented by all students in Abel’s math class (rounded to two decimal places)?

13. Using the scores in Table 1 and a confidence level of 80%, what is the confidence interval represented by all students in Abel’s math class (rounded to two decimal places)?

14. Using the scores in Table 1 and a confidence level of 95%, what is the confidence interval represented by all students in Baker’s math class (rounded to two decimal places)?

15. Using the scores in Table 1 and a confidence level of 99%, what is the confidence interval represented by all students in Baker’s math class (rounded to two decimal places)?

16. Candidate Jones is running for state representative and wants to know what percent of the votes he can expect to get.  You survey 225 voters and find that 55% state they will vote for him.  What percentage of the votes do you report that he will receive?

17.  Candidate Brown is running for state senator and wants to know what percent of the votes he can expect to get.  You survey 400 voters and find that 62% state they will vote for him.  What percentage of the votes do you report that he will receive?

18.  Tommy is running for senior class president and wants to know what percent of the votes he can expect to get.  You survey 25 students and find that 40% state they will vote for him.  What percentage of the votes do you report that he will receive?
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